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I Analysis of 'a mwn and the relative impact of leading or riding on an animal as a 13p
a M 27 HRnY told him that one of riding or leading is np and he didn’t remember which — investigation:
i Couldn’t be: a question of »nn by itself — that’s obviously a valid 11p
ii  Must be: whether 1137 is nnp if there is also someone leading the animal
1 Lemmal: does the rider have a stronger 11p, since he is holding it OR
2 Lemma2: does the leader have a stronger 11p, since it is going on his account
iii (77 27continues): let’s examine — the nwn  in 0RY5 (in re: NN 'R5I) rules that the buggy-driver violates, but
1 p’por the one sitting in the carriage also violates
2 p”7. the one sitting in the carriage doesn’t violate
(a) And: 9xnw reversed the mwn so that the na%n is that the one sitting doesn’t violate
(b) - ariderisn’t np (not considered in control) and certainly if there is also a »nin at the time
(c) Challenge (either 9oy “1to 77172 2701 722K to 901 *9): a rider is at least holding onto the reins
(i) Response: the reins are irrelevant and not a p
(if) Reason: a o (reins) is only valid for 11p from another (1”51 7010), not for 9pann 11 1P or NRxN
b Challenge: our mwn —which must be to 111, since n™ considers even someone sitting in the buggy to be in control
i Answer: case is where he is leading with his feet while riding;
1 ~770. the leader should be in a stronger position as he is both in possession and leading — 9"np
¢ Challenge: 11 -2 leading a camel, or driving a donkey; or one leading and the other driving —vp nxr nna
i Dissent (771777 227): 3p is only valid if leading a camel or driving a donkey
ii ~ Challenge from beginning of 817772 riding is never valid (as it was omitted)
1 Rejection: riding is valid; p"n picked »nam qwin to oppose N’ 3 who required specific form of leading for each
(a) Challenge: why not state them all together — 2 who were leading or driving...
(b) Answer: one of them is, indeed invalid according to p”n; unclear which (Ym32 n2*wn/5M3a NNIN)
iii  Challenge may be from 89°0. 1 n1n1 excludes riding
1 Rejection: w nna excludes ma nmimn OR 7nna n2*wn (unclear which)
d  Support: ruling that if one is riding a donkey and the other holding the reins — the rider is np the donkey
i And:the one holding the reins is only n1p what he has in his hands
ii ~ Conclusion: riding is a y1p
iii  Deflection: could be a case where he is “leading with his feet” (while riding)
1 Question: how does the rider get any part of the reins
(a) Ewven if: we say 17an mp 11an> nxxn i — that’s only if he picked it up on behalf of the other fellow
(b) But: here, he picked it up for himself and wasn’t successful - why should the rider be successful
2 Rather: the rider is nnp the donkey and the top of the saddle (on the donkey), the other fellow is nnp the part of
the reins in his hands and the rest is taken by neither
(a) 173w ’1. keeps original version (rider gets the rest of the reins) since he could pull them to himself
(i) rejection: statement is in error, since 2 who pick up a n®’¥n where one is better situated than the other
- even though he could pull it to himself - still equally share the p
e support: Rm»a ruling that if someone is riding in the field or pulling in town — n1p
i Rejection: may be “leading with his feet” — teaching two kinds of »nn
ii  Challenge: if so, why isn’t 20v7 valid in town
1 Answer: people don’t generally ride in town
2 Rejection: if so, if someone picks up a money pouch on naw, shouldn’t be nnp
3 Rather: statement isn’t about n&xn, rather n”n, and the seller told him to take possession “in the usual way”
(a) Therefore: if it is 9”7, or he’s an 27wnN DX or a woman or a person of low standing — nip
(i) Reason: all of these aren’t used to leading animals
I ®™’s question: if seller has his wares on an animal can he have the buyer take possession of the animal to acquire the wares?
a  Answer (¥27):it'"d be n1p as a 9¥n —but this is a mobile 1¥n, which can’t acquire even if stationery — unless tied down
i Challengel: fish jumping into his boat shouldn’t be his — na5nn qxn
1 Answer (817): the boat is stationery, the water moving
ii ~ Challenge2: if a husband throws a v3 into the woman’s head-basket, shouldn’t be w13 — nabnn q¥n
1 Answer (wx "9): the head-basket is stationery, she is moving under it
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